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TNSTRIJC'| TONS TO CANDIDA'I 'E:

Sect ion-A is conrpulsory. C-onsist ing of ten quesf ions carrving t$ o mx1l1q . . .11.Scct ion-B contains f ive qucst ions can'yi^g f ive marks each and str trcnr has to attemnr anvfour questions.

;T:t::-T:Tains 
three questions ca'f ing ten marks eacrr and sr{,denr has to a*empr any
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SECTION-A (Compulsory)

Draw the syrnbol for dependent and independent curent sorrrgs5
Define lamp ancl impir ise funct ion matl iematical l l .
Define Kirchoffls current law.

State Norton's theorem.

If  the damping rat io is zero then whai wif i  be the effect on th. .syslen),s response.Obtain thc laplace transfonn of e-s,cswt where 0 being a colrsrant.
Define initial value theorern.

Defi ne transfer funcir on.

Define natural response of a network.
Def ine a posit ive r leal  funct ion.

(10x2:2A)

(4x5:20)

the st,rrrces trsing theorenr

Q2
SECTION -  B

obtain the maxinrum arlrollrt of powe. transfer in R fi-orn
maximum power transfer in the netu,ork shorvn below:
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Q4

State ancl explain

Find the transfer

config,;ration.

Therenin's theorcm.

function of the network sliown in fig bel,r,v. Al:;o sketen pale zero
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Q6

Find the second Foster

Synthesize the network

caver fonn.

fonn of the adntiilance function.

ha , , ' i ng  dur ing  po in t  in rpedance

. l(5 I e)
+ 4l(, | '? + 25)

' I 0 r ' - + - l 0s

+ 4.\'r r- 3

(2x t0=20)

in the f i rst

Q7

Q8

Qe ( i )

(ii )

SECTION - C
State and explain superposition fhorem.
(i) State anci prove convalution thorenr.
(ii) Obtain Z parameters fbr the networl< shown below
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For the given networr< funct ion, dra.w the pare zero c-r iagrarn arrcrresponse i (t).

^ 2  "r ,  \  J  - f  + , \ + J
1 ( . 5  )  =

S '+  l . ;

Synthesize I,(s) = ]tj 5_
3 r+9

f ind  the  t r rnc  domain

2xl0=20
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